2019.40

Government of Odisha

	Proposal No:	R/10/1734/6/26/350018					Proposal Date :	ate:		10	7.31.31
							AND TO THE OWNERS ALL IN				
	Institute:	Anchal (Degree) College Padampur					Academic Year :		2019-20		
	Scheme:	Post Matric Scholarship-OBC/SEBC					Proposal Type :		Renewal		
SINO	Application31	S.No. Application ID Student Name	Gender	Gender Category/Religion	Month	Rate Main	tonence	Course Fee	Course Fee Other Fee Total Fee	Totalifae	Total Scholarship
Coursi	Course : Plus 3/ARS/AYr	Mr.									
н	170126.	1701267 TANKADHAR SAHU	Male	OBC/SEBC/Hindu	10	210	2100	1127	3010	4137	6237
2	1963859	1963859 UPAMANYU SAHU	Male	OBC/SEBC/Hindu	10	210	2100	1127	3010	4137	6237
w	195088	1950885 NARESH SAHU	Male	OBC/SEBC/Hindu	10	210	2100	1127	3010	4137	6237
4	200781	2007813 RAMESH SAHU	Male	OBC/SEBC/Hindu	10	400	4000	1127	3010	4137	8137
u	211312	2113127 ANANDA BANCHHOR	Male	OBC/SEBC/Hindu	10	210	2100	1127	3010	4137	6237
6	195771	1957711 NITESH KUMAR SAHU	Male	OBC/SEBC/Hindu	10	210	2100	1127	3010	4137	6237
7	213345	2133456 PAPUN BISWAL	Male	OBC/SEBC/Hindu	10	400	4000	1127	3010	4137	8137
. 8	221360	2213605 SHRUTIMAYEE MEHER	Female	OBC/SEBC/Hindu	10	210	2100	1127	3010	4137	6237
9	215081	2150817 PRATIKSHYA PADHAN	Female	OBC/SEBC/Hindu	10	210	2100	1127	3010	4137	6237
10		2094031 JYOTI GURU	Female	OBC/SEBC/Hindu	10	210	2100	1127	3010	4137	6237
11	196132	1961326 ANISHA GIRI	Female	OBC/SEBC/Hindu	10	210	2100	1127	3010	4137	6237
12	2205901	2205903 JASHOBANTA NAYAK	Male	OBC/SEBC/Hindu	10	210	2100	. 1127	3010	4137	6237
13		2025711 CHANDAN PADHAN	Male	OBC/SEBC/Hindu	10	210	2100	1127	3010	4137	6237

Principal Principal Principal College Padampur

Proposal No: Institute: Anchal (Degree) College Padampur R/10/1734/6/26/350018

Scheme: Post Matric Scholarship-OBC/SEBC

Proposal Date :

Academic Year: 2019-20

Proposal Type: Renewal

BRAFT

Catalogy Courses Paras Appareliants Catalogy		Condition	-					1,011	GIVE		
BOB/JAMS/JAMS/JAMS/BRODHAM Female OBC/SEBC/Hindu 10 400 4000 1127 3010 4137 33393 MITA PADHAM Female OBC/SEBC/Hindu 10 400 4000 1127 3010 4137 33393 MITA PADHAM Female OBC/SEBC/Hindu 10 400 4000 1127 3010 4137 33393 MITA PADHAM Female OBC/SEBC/Hindu 10 400 4000 1127 3010 4137 33393 MITA PADHAM Female OBC/SEBC/Hindu 10 400 4000 1127 3010 4137 139350 MITA PADHAM Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 139350 MITA PADHAM Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 139350 DEDASIMA SWALIN Female OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 139350 CHAISMA SWALIN Female OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 139350 CHAISMA SWALIN Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 139350 CHAISMA SWALIN Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 139350 CHAISMA SWALIN Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 139350 CHAISMA SWALIN Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 146633 MISBK SUMA Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 146633 MISBK SUMA Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 126633 MISBK SUMA Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 126633 MISBK SUMA Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 126633 MISBK SUMA Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 126633 MISBK SUMA Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 126634 MISBK SUMA Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 12666 MISBK SUMA Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 12666 MISBK SUMA Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 12666 MISBK SUMA Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 12656 MISBK SUMA Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 12656	S.No. Apr	plication ID Student Name	Gender	Gategory/Religion	Month			urse Fee	Other/Fee	Total Fee	Total Scholarship
2832439 BABITIA pradham Female OBC/SEBC/Hindu 10 400 400 1127 3010 4137 3039390 ANTIA PADIANA Female OBC/SEBC/Hindu 10 400 400 400 1127 3010 4137 3010 4137 305059 JHLI padham Female OBC/SEBC/Hindu 10 400 400 400 1127 3010 4137 3010 4137 305059 JHLI padham Female OBC/SEBC/Hindu 10 400 400 400 1127 3010 4137 3010 4137 305059 JHLI padham Female OBC/SEBC/Hindu 10 210 210 210 210 210 210 210	Course!! Plu	is 8/Arts/2Yr									
3339306 MITA PADHANI Female OBC/SEBC/Hindu 10 400 4000 1127 3010 4137 12735559 JRLI padhan Female OBC/SEBC/Hindu 10 400 4000 1127 3010 4137 1275551 BINATIN IDARIX Female OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1502567 ARHSHEK SWIKIN Halle OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1502567 ANSH MARE OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1502567 ANSH MARE OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 150257 ANSH MARE OBC/SEBC/Hindu 10 210 2100 1127 3	14	2832439 BABITA pradhan	Female	OBC/SEBC/Hindu	10	400	4000	1127	3010	4137	8137
2935509 JHILI padhan Female OBC/SEBC/Hindu 10 400 400 1127 3010 4137 1507567 BHINAYINI BARIX Female OBC/SEBC/Hindu 10 400 400 1127 3010 4137 1505567 BHISHEK SWAINA Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1505567 ABRISHEK SWAINA Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1507567 DEEPKSIKHA SWAINA Female OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1507596 DILESWARI HEHER Female OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1507596 DILESWARI HEHER OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1507596 CHAIDAN BATEL Hale OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1507596 CHAIDAN BATEL Hale OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1507596 CHAIDAN BATEL Hale OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1507596 CHAIDAN BATEL Hale OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1507596 CHAIDAN BATEL Hale OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1507596 CHAIDAN BATEL Hale OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1507596 CHAIDAN BATEL Hale OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1507596 CHAIDAN BATHLI Female OBC/SEBC/Hindu 10 210 2200 1127 3010 4137 15085 ACHIDANANA BADHEI Female OBC/SEBC/Hindu 10 210 2200 1127 3010 4137 15085 ACHIDANANA BADHEI Female OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 15085 ACHIDANANA BADHEI Female OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 15085 ACHIDANANA BADHEI Female OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 15085 ACHIDANANA BADHEI Female OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 15085 ACHIDANANA BADHEI Female OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 15085 ACHIDANANA BADHEI Female OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 15085 ACHIDANANA BADHEI Female OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 15085 ACHIDANANA BADHEI Female OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 15085 ACHIDANANA BADHEI Female OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 15085 ACHIDANANA BADHEI Female OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 15085 ACHIDANANA BADHEI Female OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 15085 ACHIDANANA BADHEI Female OBC/SEBC/Hindu 10 2100 2100 1127 3010 4137 15085 ACHIDANANA BADHEI Female OBC/SEBC/Hindu	15	3383908 ANITA PADHAN	Female	OBC/SEBC/Hindu	10	400	4000	1127	3010	4137	8137
1527651 BINAYINI BARIX Female OBC/SEBC/Hindu 10 400 400 1127 3010 4137 105567 ABHISHEK SIVAIN Male OBC/SEBC/Hindu 10 210 2100 2110 1217 3010 4137 1152567 ABHISHEK SIVAIN Male OBC/SEBC/Hindu 10 210 2100 2110 1127 3010 4137 1152576 DILES/HARI HEHER Female OBC/SEBC/Hindu 10 210 2100 2100 1127 3010 4137 11525779 DEEPASIRHA SIVAITI Female OBC/SEBC/Hindu 10 210 2100 2100 1127 3010 4137 11525779 DEEPASIRHA SIVAITI Male OBC/SEBC/Hindu 10 210 2100 2100 1127 3010 4137 1152573 KETAN DANSANA Male OBC/SEBC/Hindu 10 210 2100 2100 1127 3010 4137 1152574 ANASH SAHA Male OBC/SEBC/Hindu 10 210 2100 2100 1127 3010 4137 1152574 ANASH SAHA Male OBC/SEBC/Hindu 10 210 2100 2100 1127 3010 4137 1152574 ANASH SAHA Male OBC/SEBC/Hindu 10 210 2100 2100 1127 3010 4137 1152574 ANASH SAHA Male OBC/SEBC/Hindu 10 210 2100 2100 1127 3010 4137 1152574 ANASH SAHA Male OBC/SEBC/Hindu 10 210 2100 2100 1127 3010 4137 1152574 ANASH SAHA Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1152574 ANASH SAHA Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 115257 PAJOEEP INAG Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 115257 PAJOEEP INAG Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1152586 ANASH SAHA Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1152586 ANASH SAHA Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1152586 ANASH SAHA Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1152586 ANASH SAHA Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1152586 ANASH SAHA Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1152586 ANASH SAHA Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1152586 ANASH SAHA Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1152586 ANASH SAHA Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1152586 ANASH SAHA Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1152586 ANASH SAHA Male OBC/SEBC/Hindu 10 210 2100 2100 1127 3010 4137 1152586 ANASH SAHA Male OBC/SEBC/Hindu 10 210 2100 2100 1127	16	2935509 JHILI padhan	Female	OBC/SEBC/Hindu	10	400	4000	1127	3010	4137	8137
1505367 ABNISHEK SVIAIN Male OBC/SEBC/Hindu 10 210 210 210 1127 3010 4137 1622460 LOKESH KUMAR DAS Male OBC/SEBC/Hindu 10 210 2100 2110 2110 2110 2110 4137 162440 LOKESH KUMAR DAS Male OBC/SEBC/Hindu 10 210 2100 2110 2110 2110 4137 162440 LOKESH KUMAR DAS Male OBC/SEBC/Hindu 10 210 2100 2110 2110 2110 4137 162573 PERPASIKHA SVIAIN Male OBC/SEBC/Hindu 10 210 2100 2110 2110 2110 4137 162573 PETAL DANSAMA Male OBC/SEBC/Hindu 10 210 2100 2110 2110 2110 4137 162573 RETAU DANSAMA Male OBC/SEBC/Hindu 10 210 2100 2110 2110 2110 4137 162574 ANAISH KUMAR SAHU Male OBC/SEBC/Hindu 10 210 2100 2100 2110 2100 4137 162574 ANAISH KUMAR SAHU Male OBC/SEBC/Hindu 10 210 2100 2100 2110 2100 4137 162574 ANAISH KUMAR SAHU Male OBC/SEBC/Hindu 10 210 2100 2100 2100 4137 162574 ANAISH BOWal Male OBC/SEBC/Hindu 10 210 2100 2100 2100 4137 162574 ANAISH BOWal Male OBC/SEBC/Hindu 10 210 2100 2100 2100 4137 162574 ANAISH BOWal Male OBC/SEBC/Hindu 10 210 2100 2100 2100 4137 162574 ANAISH BOWAL Male OBC/SEBC/Hindu 10 210 2100 2100 2100 4137 162574 ANAISH BOWAL Male OBC/SEBC/Hindu 10 210 2100 2100 2100 4137 162574 ANAISH BOWAL Male OBC/SEBC/Hindu 10 210 2100 2100 2100 4137 162574 ANAISH BOWAL Male OBC/SEBC/Hindu 10 210 2100 2100 2100 4137 162574 ANAISH BOWAL Male OBC/SEBC/Hindu 10 210 2100 2100 2100 4137 162574 ANAISH BOWAL Male OBC/SEBC/Hindu 10 210 2100 2100 2100 4137 162574 ANAISH BOWAL Male OBC/SEBC/Hindu 10 210 2100 2100 2100 4137 162574 ANAISH BOWAL 162574 ANAISH BOW	17	1527651 BINAYINI BARIK	Female	OBC/SEBC/Hindu	10	400	4000	1127	3010	4137	8137
1622640 LOKESH KUMAR DAS Male OBC/SEBC/Hindu 10 210 210 210 1127 3010 4137 1879506 DILESWARI HEHER Female OBC/SEBC/Hindu 10 210 210 2100 1127 3010 4137 157579 DEPASKHA SWAINI Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1575906 CHANDAN PATEL Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1575906 CHANDAN PATEL Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1575906 CHANDAN PATEL Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1575906 CHANDAN PATEL Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1575906 CHANDAN PATEL Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1575906 CHANDAN PATEL Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1575906 CHANDAN PATEL Male OBC/SEBC/Hindu 10 210 2520 1127 3010 4137 1575906 CHANDAN PATEL Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1575906 CHANDAN PATEL Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1575905 CHANDAN PATEL Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1575905 CHANDAN PATEL Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 125905 CACHDANANDA PATEL Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 125915 RAJAT KUMAR PAADHAN Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 125915 RAJAT KUMAR PAADHAN Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 125915 RAJAT KUMAR PAADHAN Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 125915 RAJAT KUMAR PAADHAN Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 125915 RAJAT KUMAR PAADHAN Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 125915 RAJAT KUMAR PAADHAN Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 125915 RAJAT KUMAR PAADHAN Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 125915 RAJAT KUMAR PAADHAN Male OBC/SEBC/Hindu 10 210 2100 21	18	1505367 ABHISHEK SWAIN	Male	OBC/SEBC/Hindu	10	210	2100	1127	3010	4137	6237
1879506 DILESWARI NEHER Female OBC/SEBC/Hindu 10 210 210 210 1127 3010 4137 1575779 DEEPASKIKA SVAINV Female OBC/SEBC/Hindu 10 210 210 2100 1127 3010 4137 1826273 KFTAN DANSAMA Male OBC/SEBC/Hindu 10 210 210 2100 1127 3010 4137 1826273 KFTAN DANSAMA PAFEL Male OBC/SEBC/Hindu 10 210 210 2100 1127 3010 4137 157596 CHANIDAN PAFEL Male OBC/SEBC/Hindu 10 210 210 2100 1127 3010 4137 1827924 MANISH KUMAR SAHU Male OBC/SEBC/Hindu 10 210 210 2100 1127 3010 4137 1827924 MANISH KUMAR SAHU Male OBC/SEBC/Hindu 10 210 210 2100 1127 3010 4137 1466934 BIBEK SUNA MADHEI Pemale OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1876333 PRIYAWA BADHEI Pemale OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1828/ATS/BY(1879337 PRIYAWA BADHEI Pemale OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1828/ATS/BY(18892057 PRADEEP NAG PABE BISWAL Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1828/ATS/BY(1890337 RIVAWA BADHEI Pemale OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1828/ATS/BY(1890337 RIVAWA BADHEI Pemale OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1828/ATS/BY(1890338 PRIYAWA BADHA BAG Female OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1828/ATS/BY(1890337 RADEEP NAG PABE OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1828/ATS/BY(1890338 PRIYAWA BAG Female OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1828/ATS/BY(1890338 PRIYAWA BAG Female OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1828/ATS/BY(1890339 RIVAWA BAG Female OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1828/ATS/BY(1890339 RIVAWA BAG Female OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1828/ATS/BY(1890339 RIVAWA BAG Female OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1828/ATS/BY(1890339 RIVAWA BAG Female OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1828/ATS/BY(1890339 RIVAWA BAG FABO FEMALE PEMALE	19	1622640 LOKESH KUMAR DAS	Male	OBC/SEBC/Hindu	10	210	2100	1127	3010	4137	6237
1575779 DEEPASIKHA SIVAKIN Female OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1826273 KETAN DANSANA Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1575906 CHANDAN PATEL Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 2511044 SAKTIHAH bahera Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 157574 ARASH KUMAR SAHU Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 126574 ARASH SAHAA Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 126574 ARASH SAHAA Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1266934 RIBEK SUNA Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1269457 3AGSH BISWAL Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1269457 RPADEEP NAG Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 126947 RPADEEP NAG Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 126947 ARASH SAHAA MALE OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 126947 ARASH SAHAA MALE OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 126947 ARASH SAHAA MALE OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 126947 ARASH SAHAA MALE OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 126947 ARASH SAHAA MALE OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 126947 ARASH SAHAA MALE OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 126947 ARASH SAHAA MALE OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 126947 ARASH SAHAA MALE OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 126947 ARASH SAHAA MALE OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 126947 ARASH SAHAA MALE OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 126947 ARASH SAHAA MALE OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 126947 ARASH SAHAA MALE OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 126947 ARASH SAHAA MALE OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 126947 ARASH SAHAA MALE OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 126947 ARASH SAHAA MALE OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 126947 ARASH SAHAA MALE OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 126947 ARASH SAHAA MALE OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 126947 ARASH SAHAA MALE OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 126947 ARASH SAHAA MALE OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 126947 ARASH SAHAA MALE OBC/SEBC/Hind	20	1879506 DILESWARI MEHER	Female	OBC/SEBC/Hindu	10	210	2100	1127	3010	4137	6237
1875273 KETAN DANSANA Male OBC/SEBC/Hindu 10 210 210 2127 3010 4137 1575906 CHANDAN PATEL Male OBC/SEBC/Hindu 10 210 210 2100 1127 3010 4137 2911044 SAKTINAN behara Male OBC/SEBC/Hindu 10 210 2100 2100 1127 3010 4137 1872924 MANISH KUNAR SAHU Male OBC/SEBC/Hindu 10 210 2100 2100 1127 3010 4137 1872924 MANISH KUNAR SAHU Male OBC/SEBC/Hindu 10 210 2100 2100 1127 3010 4137 1872924 MANISH KUNAR SAHU Male OBC/SEBC/Hindu 10 210 2520 1127 3010 4137 187294 MANISH KUNAR SAHU Male OBC/SEBC/Hindu 10 210 2520 1127 3010 4137 187294 MASH SAHA Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 187294 MASH SAHA Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 187294 MASH SAHA Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 187294 MASH SAHA Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 187294 MASH SAHA Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 187294 MASH SAHA Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 126963 KACHIDANNANDA PATEL Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 126963 KACHIDANNANDA PATEL Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 126963 KACHIDANNANDA PATEL Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 126963 KACHIDANNANDA PATEL Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 126963 KACHIDANNANDA PATEL Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 126963 KACHIDANNANDA PATEL Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 126963 KACHIDANNANDA PATEL Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 126963 KACHIDANNANDA PATEL Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 4137 4139 413	- 21	1575779 DEEPASIKHA SWAIN	Female	OBC/SEBC/Hindu	10	210	2100	1127	3010	4137	6237
1575906 CHANDAN PATEL Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 2911044 SAKTINIAN behera Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1827924 MANISH KUMAR SAHU Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 2946673 AKISH biswal Male OBC/SEBC/Hindu 10 210 2100 2100 1127 3010 4137 2946673 AKISH biswal Male OBC/SEBC/Hindu 10 210 2100 2100 1127 3010 4137 1456934 BIBEK SUNA Male OBC/SEBC/Hindu 10 210 2100 2100 1127 3010 4137 1456934 BIBEK SUNA BADHEI Pemale OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1189037 PRADEEP INAG Pemale OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1209612 PARESH BISWAL Pemale OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1209612 PARESH BISWAL Pemale OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1215086 ALOK SUNA BADHEI Pemale OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1215086 ALOK SUNA Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1215086 ALOK SUNA Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1215086 ALOK SUNA Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 128950 SACHIDANANIDA PATEL Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 138951 RAJAT KUMAR PRADHAN Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 139151 RAJAT KUMAR PRADHAN Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 139151 RAJAT KUMAR PRADHAN Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 139151 RAJAT KUMAR PRADHAN Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137	22	1826273 KETAN DANSANA	Male	OBC/SEBC/Hindu	10	210	2100	1127	3010	4137	6237
2911044 SAKTIIMMI behera Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1827924 MANISH KUNAR SAHU Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1776574 AKASH SAHA MAISH KUNAR SAHU Male OBC/SEBC/Hindu 10 400 4000 1127 3010 4137 2246673 AKISH biswal Male OBC/SEBC/Hindu 10 210 2520 1127 3010 4137 1466934 BISBK SUNA Male OBC/SEBC/Hindu 10 210 2100 2120 1127 3010 4137 1466934 BISBK SUNA Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1878333 RRIYAKIKA BADHEL Female OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1209612 PARESH BISWAL Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1209612 PARESH BISWAL Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1215986 ALOK SUNA Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1215986 ALOK SUNA Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1215985 SACHIDAVIADA PATEL Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1268950 SACHIDAVIADA PATEL Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1268950 SACHIDAVIADA PATEL Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 36624 BIKASH SAHU Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 367624 BIKASH SAHU Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 367624 BIKASH SAHU Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 367624 BIKASH SAHU Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 367624 BIKASH SAHU Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137	23	1575906 CHANDAN PATEL	Male	OBC/SEBC/Hindu	10	210	2100	1127	3010	4137	6237
1827924 MANISH KUMAR SAHU Male OBC/SEBC/Hindu 10 210 210 210 210 210 210 210	24	2911044 SAKTIMAN behera	Male	OBC/SEBC/Hindu	10	210	2100	1127	3010	4137	6237
1776574 AKASH SAHA Nale OBC/SEBC/Hindu 10 400 400 4127 3010 4137 2246673 AKISH biswal Nale OBC/SEBC/Hindu 12 210 2200 2200 1127 3010 4137 3010 4137 1127 3010 4137 1127 3010 4137 1127	25	1827924 MANISH KUMAR SAHU	Male	OBC/SE8C/Hindu	10	210	2100	1127	3010	4137	6237
2946673 AKISH biswal Male OBC/SEBC/Hindu 12 210 2520 1127 3010 4137 1466934 BIBEK SUNA Male OBC/SEBC/Hindu 10 210 210 2100 1127 3010 4137 1873833 PRIYANKA BADHEL Female OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1980257 PRADEEP NAG Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1280334 TULASI BHOI Female OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1280334 TULASI BHOI Female OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1210456 SABITA BAG Female OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1215086 ALOK SUNA BHOI Female OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1215086 ALOK SUNA BHOI Female OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1268950 SACHIDANANDA PATEL Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1268950 SACHIDANANDA PATEL Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1159151 RAJAT KUMAR PRADHAN Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 3376224 BIKASH SAHU Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 3376224 BIKASH SAHU Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137	26	1776574 AKASH SAHA	Male	OBC/SEBC/Hindu	10	400	4000	1127	3010	4137	8137
1466934 BIBEK SUNA Male OBC/SEBC/Hindu 10 210 210 2100 1127 3010 4137 11873833 PRIYANIKA BADHEI Female OBC/SEBC/Hindu 12 400 4800 11127 3010 4137 1127 3010 4137 11280334 TULASI BHOI Female OBC/SEBC/Hindu 12 OBC/SEBC/Hindu 13 1400 4000 11127 3010 4137	27	2946673 AKISH biswal	Male	OBC/SEBC/Hindu	12	210	2520	1127	3010	4137	6657
1873833 PRIYANKA BADHEI Female OBC/SEBC/Hindu 10 210 210 1127 3010 4137 1836/ALIS/BYK Wale OBC/SEBC/Hindu 12 400 4800 1127 0 1127 1980257 PRADEEP NAG Male OBC/SEBC/Hindu 12 400 4800 1127 0 1127 1280334 TULASI BHOI Female OBC/SEBC/Hindu 10 210 400 400 400 1127 3010 4137 1209612 PARESH BISWAL Male OBC/SEBC/Hindu 10 210 210 400 400 1127 3010 4137 134546 SABITA BAG Female OBC/SEBC/Hindu 10 210 210 210 1127 3010 4137 1359835 RENUKA BHOI Female OBC/SEBC/Hindu 10 210 210 2107 1127 3010 4137 3387561 LINGARAJ SAHA Male OBC/SEBC/Hindu 10 210 210 1127 3010 4137	28	1466934 BIBEK SUNA	Male	OBC/SEBC/Christian	10	210	2100	1127	3010	4137	6237
IISS/JATIS/BYYC Male DBC/SEBC/Hindu 12 400 4800 1127 0 1127 1280334 TULASI BHOI Female DBC/SEBC/Hindu 10 400 400 1127 3010 4137 1299612 PARESH BISWAL Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1314546 SABITA BAG Female OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1369835 RENUKA BHOI Female OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 125086 ALOX SUNA Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 3387561 LINGARAJ SAHA Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1268950 SACHIDANANDA PATEL Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 2867106 ABHIMANYJ rana Male OBC/SEBC/Hindu 10	29	1873833 PRIYANKA BADHEI	Female	OBC/SEBC/Hindu	10	210	2100	1127	3010	4137	6237
1980257 PRADEEP NAG Male OBC/SEBC/Hindu 12 0802582 TULASI BHOI 1280334 TULASI BHOI 1280334 TULASI BHOI 1280334 TULASI BHOI 1280334 TULASI BHOI 1290612 PAREEH BISWAL Male OBC/SEBC/Hindu 10 0802582 (Hindu 10 210 210 210 210 210 210 210 210 210		15.3/Arts/3Yr								-	-
1280334 TULASI BHOI Female OBC/SEBC/Hindu 10 400 400 1127 3010 4137 1209612 PARESH BISWAL Male OBC/SEBC/Hindu 10 210 210 1127 3010 4137 1314546 SABITA BAG Female OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1369835 RENUKA BHOI Female OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 125086 ALOX SUNA Male OBC/SEBC/Christian 10 210 2100 1127 3010 4137 3387561 LINGARAJ SAHA Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 2867106 ABHIMANYU rana Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1159151 RAJAT KUMAR PRADHAN Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 3376224 BIKASH SAHU Male OBC/SEBC/Hindu 1	30	1980257 PRADEEP NAG	Male	OBC/SEBC/Hindu	12	400	4800	1127	0	1127	5927
1209612 PARESH BISWAL Male OBC/SEBC/Hindu 10 210 210 1127 3010 4137 1314546 SABITA BAG Female OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1369835 RENUKA BHOI Female OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1215086 ALOK SUNA Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 3387561 LINGARAJ SAHA Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1268950 SACHIDANANDA PATEL Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 2867106 ABHIMANYU rana Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 3376224 BIXASH SAHU Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137	31	1280334 TULASI BHOI	Female	OBC/SEBC/Hindu	10	400	4000	1127	3010	4137	8137
1314546 SABITA BAG Female OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1369835 RENUKA BHOI Female OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1215086 ALOK SUNA Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 3387561 LINGARAJ SAHA Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1268950 SACHIDANANDA PATEL Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 2867106 ABHIMANYU rana Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1159151 RAJAT KUMAR PRADHAN Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 3376224 BIKASH SAHU Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137	32	1209612 PARESH BISWAL	Male	OBC/SEBC/Hindu	10	210	2100	1127	3010	4137	6237
1369835 RENUKA BHOI Female OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1215086 ALOK SUNA Male OBC/SEBC/Christian 10 210 2100 1127 3010 4137 3387561 LINGARAJ SAHA Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1268950 SACHIDANANDA PATEL Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 2867106 ABHIMANYU rana Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1159151 RAJAT KUMAR PRADHAN Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 3376224 BIKASH SAHU Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137	33	1314546 SABITA BAG	Female	OBC/SEBC/Hindu	10	210	2100	1127	3010	4137	6237
1215086 ALOX SUNA Male OBC/SEBC/Christian 10 210 210 1127 3010 4137 3387561 LINGARAJ SAHA Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1268950 SACHIDANANDA PATEL Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 2867106 ABHIMANYU rana Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1159151 RAJAT KUMAR PRADHAN Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 3376224 BIKASH SAHU Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137	34	1369835 RENUKA BHOI	Female	OBC/SEBC/Hindu	10	210	2100	1127	3010	4137	6237
3387561 LINGARAJ SAHA Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1268950 SACHIDANANDA PATEL Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 2867106 ABHIMANYU rana Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1159151 RAJAT KUMAR PRADHAN Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 3376224 BIKASH SAHU Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137	35	1215086 ALOK SUNA	Male	OBC/SEBC/Christian	10	210	2100	1127	3010	4137	6237
1268950 SACHIDANANDA PATEL Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 2867106 ABHIMANYU rana Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1159151 RAJAT KUMAR PRADHAN Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 3376224 BIKASH SAHU Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137	36	3387561 LINGARAJ SAHA	Male	OBC/SEBC/Hindu	10	210	2100	1127	3010	4137	6237
2867106 ABHIMANYU rana Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 1159151 RAJAT KUMAR PRADHAN Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137 3376224 BIKASH SAHU Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137	37	1268950 SACHIDANANDA PATEL	Male	OBC/SEBC/Hindu	10	210	2100	1127	3010	4137	6237
1159151 RAJAT KUMAR PRADHAN Male OBC/SEBC/Hindu 10 210 210 1127 3010 4137 3376224 BIKASH SAHU Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137	38	2867106 ABHIMANYU rana	Male	OBC/SEBC/Hindu	10	210	2100	1127	3010	4137	6237
3376224 BIKASH SAHU Male OBC/SEBC/Hindu 10 210 2100 1127 3010 4137	39	1159151 RAJAT KUMAR PRADHAN	Male	OBC/SEBC/Hindu	10	210	2100	1127	3010	4137	6237
	40	3376224 BIKASH SAHU	Male	OBC/SEBC/Hindu	10	210	2100	1127	3010	4137	6237

Page 2/4

This Proposal is generated by Odisha Scholarmo Portal Portage 90 0542:2019

Anchal College Padampur

Academic Year: Proposal Date :

2019-20

Proposal No

R/10/1734/6/26/350018

Institute:

Anchal (Degree) College Padampur

	Scheme: Post Matric Scholarship-OBC/SEBC	ë				Proposal Type :		Renewal		
S.No. App	S.No. Application ID Student Name	Gender	Gender Category/Religion	Month	Rate Mai		Courselfee	Menence Course Fee Other Fee Total Fee	Totalifee	Total
Course : Plu	urse : Plus 3/Science/17/r							-		
41	2064928 RAKSHI PADHAN	Female	OBC/SEBC/Hindu	10	400	4000	1559	3010	4569	8569
Course ; Plu	urse : Plus 3/Science/2Vr									
42	3104269 MANOHARA BHOI	Male	OBC/SEBC/Hindu	10:	210	2100	1559	3010	4569	6669
43	1532774 MANTU DISHRI	Male	OBC/SEBC/Hindu	10	210	2100	1559	3010	4569	6669
1	1710984 BARSHA BHOI	Female	OBC/SEBC/Hindu	10	210	2100	1559	3010	4569	6669
45	1833050 ROHITA SAHU	Male	OBC/SEBC/Hindu	10	400	4000	1559	3010	4569	8569
46	1916673 Deepasikha Bhoi	Female	OBC/SEBC/Hindu	10	210	2100	1559	3010	4569	6669
. 47	2750554 PREETI sahu	Female	OBC/SEBC/Hindu	10	210	2100	1559	3010	4569	6669
48	1669580 NEPURA MAHAR	Female	OBC/SEBC/Hindu	10	210	2100	1559	3010	4569	6669
49	1474322 DOLLY RANI PRADHAN	Female	OBC/SEBC/Hindu	10	210	2100	1559	3010	4569	6669
50	2874243 SHOBHASINEE meher	Female	OBC/SEBC/Hindu	10	400	4000	1559	3010	4569	8569
51	1676402 UTTAM RANA	Male	OBC/SEBC/Hindu	10	210	2100	1559	3010	4569	6669
52	1559858 JOGESWAR SAHU	Male	OBC/SEBC/Hindu	10	400	4000	1559	3010:	4569	8569
Course ; Plu	rse : Plus 3/Science/3Yr	The state of the s	The second second			Section of the last of the las				
53	1188898 DILESWAR NAYAK	Male	OBC/SEBC/Hindu	10	210	2100	1559	3010	4569	6669
54	1249452 BABLU SAHU	Male	OBC/SEBC/Hindu	15	210	2100	1559	3010	4569	6669
55	1416649 BIBEK SAHU	Male	OBC/SEBC/Hindu	10	210	2100	1559	3010	4569	6669
56	3342400 SUSHREE SWAGATIKA BEHERA	Female	OBC/SEBC/Hindu	10	210	2100	1559	3010	4569	6669
57	1120520 PRIYADARSHINI SAHU	Female	OBC/SEBC/Hindu	10	210	2100	1559	3010	4569	6669
			TOTALS:			145620		168560	240143	385763

Declaration:

- Student is a bonafide student of this institution and the academic details provided by the applicant in the application form is correct as per the records of the Institution.
- ☑ The course fees charged/claimed by the institution are actually being charged from all students of the concerned course.
- All the eligibility documents submitted by the applicant have been properly verified by me and found to be in order as per the eligibility conditions of the scheme.
- ☑ The information reflected by the student regarding Residential Status (Day-Scholar/Hosteller) is correct.
- A bank-account detail provided by the applicant has been properly verified.
- 🗹 I am aware that for any wrong entry or mis-match of the Bank-account details provided by the applicant, the State Government will not be responsible for mis-credit.

This Proposal is generated by ONTH Scholars 17 108 Printed on 05/12/2019 Anchal College Padampur

Page 3/4

Proposal No: institute: Anchal (Degree) College Padampur R/10/1734/6/26/350018

Academic Year:

Proposal Date:

Proposal Type:

Renewal

2019-20

Student is not admitted against management quota seats.

Scheme:

Post Matric Scholarship-OBC/SEBC

✓ Student is of good conduct and has attendance of minimum 75%.

in case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the Certified that this institution is affiliated to............ of India/State

authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Date : Place:

(Signature View Pead of the Institution) Nawhida Doilege Budampur sumptions

S.No. Application 10 Student Name urse (Plus 9/Arts/97) Proposal No Scheme: Institute : 3420826 ANITA PRADHAN Post Matric Scholarship-OBC/SEBC Anchal (Degree) College Padampur 0/10/1734/6/26/363574 Gender Category/Religion Month Female OBC/SEBC/Hindu TOTALS: 5 Rate Maintenence Course Fee Other Fee Total Fee Allowance 210 Proposal Type Academic Year: Proposal Date : 2100 2100 1127 2019-20 3010 3010 4137 4137 133 Total Scholarship 1-1-1 6237 6237

Declaration:

- Student is a bonafide student of this Institution and the academic details provided by the applicant in the application form is correct as per the records of the Institution.
- The course fees charged/claimed by the institution are actually being charged from all students of the concerned course.
- 🗹 All the eligibility documents submitted by the applicant have been properly verified by me and found to be in order as per the eligibility conditions of the scheme.
- The information reflected by the student regarding Residential Status (Day-Scholar/Hosteller) is correct.
- A bank-account detail provided by the applicant has been properly verified.
- 🗹 I am aware that for any wrong entry or mis-match of the Bank-account details provided by the applicant, the State Government will not be responsible for mis-credit.
- ✓ Student is not admitted against management quota seats.
- ✓ Student is of good conduct and has attendance of minimum 75%.

authority for eventual discontinuance of scholarship/stipend from the period it is detected. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be investedly required. Certified that this institution is affiliated to.....University/Board and is recognized by the Government of India/State

Place:

Date :

(Signature & Seal of beatlafighannstitution)



Proposal No	Proposal No : N/10/1/34/6/26/363606					Proposal Date	ate: -			
Institute :	Anchal (Degree) College Padampur	7				Academic Year :		2019-20		
Scheme :	Post Matric Scholarship-OBC/SEBC	C				Proposal Type:		Fresh		
S.No. Applications	Application (ID) Student Name	Gender	Gender Category/Religion	Month	Rate Mainte	Maintenence Allowance	Courselfee	anence Course Fee Other Fee Total Fee	Total Fee	Total Scholarship
Course: Plus 3/Arts/1Yr	Wr									
1 33960	3396066 BRAHMANANDA SAHU	Male	OBC/SEBC/Hindu	10	210	2100	1127	3010	4137	6237
Course : Plus 3/Science/1Yr	rce/1Yr					The state of the s				
2 34249	3424936 SUSHREE SAMANMITA PATRA	Female	Female OBC/SEBC/Hindu	10	210	2100	1559	3010	4569	6669
			TOTALS:			4200		6020	8706	12906

eclaration:

- Student is a bonafide student of this institution and the academic details provided by the applicant in the application form is correct as per the records of the Institution.
- The course fees charged/claimed by the institution are actually being charged from all students of the concerned course.
- All the eligibility documents submitted by the applicant have been properly verified by me and found to be in order as per the eligibility conditions of the scheme.
- ☑ The information reflected by the student regarding Residential Status (Day-Scholar/Hosteller) is correct.
- A bank-account detail provided by the applicant has been properly verified.
- 🗹 I am aware that for any wrong entry or mis-match of the Bank-account details provided by the applicant, the State Government will not be responsible for mis-credit.
- Student is not admitted against management quota seats.
- ✓ Student is of good conduct and has attendance of minimum 75%.

authority for eventual discontinuance of scholarship/stipend from the period it is detected. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be impediately reported to the Certified that this institution is affiliated to.....University/Board and is recognized by the Government of India/State

Place:

Date :

(Signature & SciPGN Pedd of the Institution)

0.000	
	Government of Odisha

5 2143987 RINU KUMAR PRADHAN Male OBC/SEBC/Hindu 1		Course : Plus 3/Science/3Yr	4 1532107 AJIT PADHAN Male OBC/SEBC/Hindu 1	3 1705003 SOURAV SAHU Male OBC/SEBC/Hindu 1	Course : Plus 3 / Science / 2Yr	2 1957820 JHILI SAHU Female OBC/SEBC/Hindu 1	1 2162785 ALOK PRADHAN Male OBC/SEBC/Hindu 1	Course : Plus 3 / Arts / 1 / r	S.No. Application ID Student Name Gender Category/Religion Mont	Scheme : Post Matric Scholarship-OBC/SEBC	Institute: Anchal (Degree) College Padampur	Proposal No : R/10/1734/6/26/355440
	10 400 4000		10 400 4000	10 210 2100		10 210 2100	10 400 4000		Month Rate Maintenence Allowance	Proposal Type :	Academic Year	Proposal Date :
	1559 3010		1559 3010	1559 3010		1127 3010	1127 3010		enence Course Fee Other Fee Total Fee	Type: Renewal	Year: 2019-20	Date: -
	4569 8569		4569 8569	4569 6669		4137 6237	4137 8137		Total Fee Scholarship			

Declaration:

- Student is a bonafide student of this Institution and the academic details provided by the applicant in the application form is correct as per the records of the Institution.
- All the eligibility documents submitted by the applicant have been properly verified by me and found to be in order as per the eligibility conditions of the scheme. The course fees charged/claimed by the institution are actually being charged from all students of the concerned course.
- The information reflected by the student regarding Residential Status (Day-Scholar/Hosteller) is correct.
- A bank-account detail provided by the applicant has been properly verified.
- 🖬 I am aware that for any wrong entry or mis-match of the Bank-account details provided by the applicant, the State Government will not be responsible for mis-credit.
- Student is not admitted against management quota seats.
- Student is of good conduct and has attendance of minimum 75%.

authority for eventual discontinuance of scholarship/stipend from the period it is detected.	In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the	Government of	Certified that this institution is affiliated to
AND THE	/stipend the fact will be immediately reported to the	idents in their applications are verified & found correct.	s recognized by the Government of India/State

Place:

Date :



Nankida-Collègie-Padampur

(Signature (Control of the Institution)

Proposal No: Scheme: Institute: Post Matric Scholarsh Anchal (Degree) College Padampur N/10/1734/6/26/350515

Academic Year:

Proposal Date:

BRAFT

2019-20

rship-OBC/SEBC		Pr	roposal Type :	Fresh	
Gender Gategory/Religion	igion Month	Rate Mainter	rence Gourse F	offeo Other Fee	Totalifee

179505	109905	75250		69600			TOTALS:			
8569	4569	3010	1559	4000	400	10	OBC/SEBC/Hindu	Male	2091400 AJAY SAHU	25
6669	4569	3010	1559	2100	210	10	OBC/SEBC/Hindu	Male	3397387 RAHUL SAHU	24
6669	4569	3010	1559.	2100	210	10	OBC/SEBC/Hindu	Female	3375713 SUNITA SAHU	23
8569	4569	3010	1559	4000	400	10	OBC/SEBC/Hindu	Male	3349221 AKASH KUMAR NAYAK	22
6669	4569	3010	1559	2100	210	10	OBC/SEBC/Hindu	Female	2114103 NIKITA BHOI	21
6669	4569	3010	1559	2100	210	10	OBC/SEBC/Hindu	Female	1670299 SUNITA CHHATAR	20
6669	4569	3010	1559	2100	210	10	OBC/SEBC/Hindu	Male	3366638 MANAS RANA	19
8569	4569	3010	1559	4000	400	10	OBC/SEBC/Hindu	Male	3356947 PRAMOD THAPA	18
6669	4569	3010	1559	2100	210	10	OBC/SEBC/Hindu	Male	3357281 KANHASHRI PATEL	17
8569	4569	3010	1559	4000	400	10	OBC/SEBC/Hindu	Male	3265907 SUBHRANSHU PADHAN	16
6669	4569	3010	1559	2100	210	10	OBC/SEBC/Hindu	Male	3356745 AKSHAYA KUMAR RANA	15
8569	4569	3010	1559	4000	400	10	OBC/SEBC/Hindu	Male	3217924 NITYANAND PADHAN	14
8569	4569	3010	1559	4000	400	10	OBC/SEBC/Hindu	Female	3364845 RACHANA BUDEK	ta
8569	4569	3010	1559	4000	400	10	OBC/SEBC/Hindu	Female	3372602 HARIPRIYA SAH	12
8569	4569	3010	. 1559	4000	400	10	OBC/SEBC/Hindu	Male	3394651 BIBHUTI RANJAN BHOI	11
	The second second	The contraction		The state of the s					his 3/Science/dYr	Course : Pl
8137	4137	3010	1127	4000	400	10	OBC/SEBC/Hindu	Male	3376917 SWAGAT KUMAR NAIK	10
6237	4137	3010	1127	2100	210	10	OBC/SEBC/Hindu	Female	1999084 SUNELI BHOI	9
6237	4137	3010	1127	2100	210	10	OBC/SEBC/HIndu	Male	3348147 JOGENDRA SAHU	8
6237	4137	3010	1127	2100	210	10	OBC/SEBC/Hindu	Female	3348387 RASHMI BEHERA	7
6237	4137	3010	1127	2100	210	10	OBC/SEBC/Hindu	Female	3372710 KALYANI PRADHAN	6
6237	4137	3010	1127	2100	210	10	OBC/SEBC/Hindu	Male	3349046 AVINASH PRADHAN	5
6237	4137	3010	1127	2100	210	10	OBC/SEBC/Christian	Male	3328819 SASHIKANTA DIGAL	4
6237	4137	3010	1127	2100	210	10	OBC/SEBC/Hindu	Female	1972207 LUJI PADHAN	ω
6237	4137	3010	1127	2100	210	10	OBC/SEBC/Hindu	Male	3187068 JHASKETAN RANA	2
6237	4137	3010	1127	2100	210	10	OBC/SEBC/Hindu	Female	3388215 DEBAKI PURI	
The same of the		3 Personal parameters	The second second						rse : Plus 3/Arts/AYr	Course : Pl
Total Scholarship		Other/Fee	stenence Course Fco Other Fco Total Fco		Rate Mai	Month	Gender Category/Religion	Gender	SiNo. Application ID Student Name	SiNo. Ap
		No. 10	200	2.70				The second secon	The state of the s	STORY STORYSTONE

Declaration:

This Proposal is generated by edisha subdatship Portal. Printed on 05/12/2019

Page 1/2

Principal
Anchal College Padampur

Proposal Date:

Proposal No:

N/10/1734/6/26/350515

Institute: Post Matric Scholarship-OBC/SEBC Anchal (Degree) College Padampur Proposal Type: Academic Year: Fresh 2019-20 3

- 🗹 Student is a bonafide student of this institution and the academic details provided by the applicant in the application form is correct as per the records of the institution.
- The course fees charged/claimed by the institution are actually being charged from all students of the concerned course
- All the eligibility documents submitted by the applicant have been properly verified by me and found to be in order as per the eligibility conditions of the scheme
- The information reflected by the student regarding Residential Status (Day-Scholar/Hosteller) is correct.
- A bank-account detail provided by the applicant has been properly verified.
- I am aware that for any wrong entry or mis-match of the Bank-account details provided by the applicant, the State Government will not be responsible for mis-credit.
- Student is not admitted against management quota seats
- ✓ Student is of good conduct and has attendance of minimum 75%

in case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately used to the accepts any other regular scholarship/stipend the fact will be immediately used to the accepts any other regular scholarship/stipend the fact will be immediately used to the accepts any other regular scholarship/stipend the fact will be immediately used to the accepts any other regular scholarship/stipend the fact will be immediately used to the accepts any other regular scholarship/stipend the fact will be immediately used to the accepts any other regular scholarship/stipend the fact will be immediately used to the accepts any other regular scholarship/stipend the fact will be immediately used to the accepts any other regular scholarship/stipend the fact will be immediately used to the accepts any other regular scholarship/stipend the fact will be immediately used to the accepts and the fact will be immediately used to the accepts and the accepts and the fact will be immediately used to the accepts and the fact will be immediately used to the accepts and the fact will be immediately used to the accepts and the fact will be immediately used to the accepts and the fact will be immediately used to the accepts and the fact will be immediately used to the accepts and the fact will be immediately used to the accepts and the fact will be immediately used to the accepts and the fact will be immediately used to the accepts and the fact will be immediately used to the accepts and the fact will be immediately used to the accepts and the fact will be immediately used to the accepts and the fact will be immediately used to the accepts and the fact will be immediately used to the accepts and the fact will be immediately used to the accepts and the fact will be immediately used to the accepts and the a Certified that this institution is affiliated to.....University/Board and is recognized by the Government of India/State

Date : Place:

use (Signature of the Capital Leters): rincipal lo

SiNo. Application ID Student Name ourse: Plus 3/Science/17/r N Proposal No : Scheme: institute: 3414561 MINAKSHI CHAUHAN 3365967 MADAN MOHAN SUNA Anchal (Degree) College Padampur Post Matric Scholarship- SC N/10/1734/1/24/358038 Female Gender Category/Religion Month SC/Hlndu SC/Hindu 10 10 Rate Mainteneuce Course Fee Other Fee Total Fee Allowance 1000 300 Academic Year Proposal Type: Proposal Date: 10000 13000 3000 1559 1559 2019-20 6020 3010 3010 9138 4569 4569 Total Scholarship 10000 14569 22138 7569

Declaration:

- Student is a bonafide student of this institution and the academic details provided by the applicant in the application form is correct as per the records of the institution.
- The course fees charged/claimed by the institution are actually being charged from all students of the concerned course.
- All the eligibility documents submitted by the applicant have been properly verified by me and found to be in order as per the eligibility conditions of the scheme.
- The information reflected by the student regarding Residential Status (Day-Scholar/Hosteller) is correct.
- A bank-account detail provided by the applicant has been properly verified
- 🗹 I am aware that for any wrong entry or mis-match of the Bank-account details provided by the applicant, the State Government will not be responsible for mis-credit.
- Student is not admitted against management quota seats.

	authority for eventual discontinuance of scholarship/stipend from the period it is detected.	In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/s	Government of Above applicants are studying in this institution. The information furnished by the study	Certified that this institution is affiliated toUniversity/Board and is
Principal		lar scholarship/stipend the fact will be in middle by regolited the	ed by the students in their applications are yerified & found correct.	y/Board and is recognized by the Government of India/State

Date : Place :

(Signatural College Backerthe Hastitution) Name (Capital Leters):



SiNo. Application ID Student Name urso::/Plus.3/Science/2Yr Proposal No Scheme: Institute: 1558941 DEEPAK MAHANANDA Post Matric Scholarship- SC Anchal (Degree) College Padampur RJ10/1734/1/24/369192 Male Gender Category/Religion Month SC/Hindu 5 Rate Maintenence Course Fee Other Fee Total Fee Allowance 300 Academic Year: Proposal Type: Proposal Date: 3000 1559 2019-20 3010 4569 130 and the same 7569

Declaration:

Is Student is a bonafide student of this institution and the academic details provided by the applicant in the application form is correct as per the records of the institution.

TOTALS:

3000

3010

4569

7569

- The course fees charged/claimed by the institution are actually being charged from all students of the concerned course.
- All the eligibility documents submitted by the applicant have been properly verified by me and found to be in order as per the eligibility conditions of the scheme.
- The information reflected by the student regarding Residential Status (Day-Scholar/Hosteller) is correct.
- A bank-account detail provided by the applicant has been properly verified.
- 🗹 I am aware that for any wrong entry or mis-match of the Bank-account details provided by the applicant, the State Government will not be responsible for mis-credit.
- Student is not admitted against management quota seats.
- Student is of good conduct and has attendance of minimum 75%.

authority for eventual discontinuance of scholarship/stipend from the period it is detected. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the Certified that this institution is affiliated to... Government ofUniversity/Board and is recognized by the Government of India/State

Place: Date:

(Signature & Staropplead of the Institution)



Institute: Anchal (Degree) College Padampur Proposal No:

R/10/1734/1/24/350026

Scheme: Post Matric Scholarship- SC

Academic Year : Proposal Date : 2019-20

Proposal Type:

Renewal

BRAFT

DENCE PROPERTY	setal Delated o	cholombin D	4 Eur Odisha S	This Proposal is penerated by Odisha Scholarship Bodal, Driefod on 05/19/2010	This D		Page 1/3			
	5	Anrhal College Padampur	l College	Ancho						
	3	MALTEL MAN	MANY	8						
7137	4137	3010	1127	3000	300	10	SC/Hindu	Male	1780475 SUVENDU BAIKAR	24
14137	4137	3010	1127	10000	1000	10	SC/Hindu	Female	1560905 NIRUPAMA RAJHANS	23
7137	4137	3010	1127	3000	300	10	SC/Hindu	Female	2006847 NAMITA MUNA	22
7137	4137	3010	1127	3000	300	10	SC/Hindu	Male	1784835 BHUBANESWAR MAHANANDA	21
7137	4137	3010	1127	3000	300	10	SC/Hindu	Female	1681696 SARARANI LUHAR	20
7137	4137	3010:	1127	3000	300	10	SC/Hindu	Male	1614153 GIRIDHARI KUMBHAR	19
7137	4137	3010	1127	3000	300	10	SC/Hindu	Male	1500519 Rohlt Seth	18
7137	4137	3010	1127	3000	300	10	SC/Hindu	Male	1322691 BIJAYA CHHATAR	17
7137	4137	3010	1127	3000	300	10	SC/Hindu	Male	1508719 BHOJRAJ KEUT	16
14137	4137	3010	1127	10000	1000	10	SC/Hindu	Male	2946450: NAIMISH chhatria	5
7137	4137	3010	1127	3000	300	10	SC/Hindu	Female	2805103 SIMA nalk	14
7137	4137	3010	1127	3000	300	10	SC/Hindu	Male	1628431 JOGESWAR MUNA	13
7137	4137	3010	1127	3000	300	10	SC/Hindu	Male	1549023 SUDAM BARIK	12
7137	4137	3010	1127	3000	300	10	SC/Hindu	Female	1857281 RITANJALI NAIK	11
7137	4137	3010	1127	3000	300	10	SC/Hindu	Female	1825060 MAMATA JAL	10
7137	4137	3010	1127	3000	300	10	SC/Hindu	Male	2704067 KUNA nag	9
7137	4137	3010	1127	3000	300	10	SC/Hindu	Male	1755604 Thabira Jal	œ
									rse : Plus 3/Arts/2Yr	Course : Ph
11127	1127	0	1127	10000	1000	10	SC/Hindu	Female	2064326 SASMITA BAG	7
7137	4137	3010	1127	3000	300	10	SC/Hindu	Male	2096821 MANOJ MAHANANDA	6
14137	4137	3010	1127	10000	1000	10	SC/Hindu	Female	2560280 BIJAYA suna	5
7137	4137	3010	1127	3000	300	10	SC/Hindu	Male	1788022 JITENDRA MEHER	4
7137	4137	3010	1127	3000	300	10	SC/Hindu	Male	2013408 PRATAP BAG	ω
7137	4137	3010	1127	3000	300	10	SC/Hindu	Male	2130319 BAJARANGBALI NAG	2
7137	4137	3010	1127	3000	300	10	SC/Hindu	Male	1961869 BHAGAT MEHER	1
									irse : Plus 3/Arts/xYr	Course : Ph
Total Scholarship	Totalifiee	tenence Course Fee Other Fee Total Fee lowance	ourse Fee	Maintenence G Allowance	Rate Maint	Month	Gender Category/Religion	Gender	S.No. Application LD Student Name	S.No. Ap
		lewai	od. Kei	rioposai iyo					Containe . Treet Water out of a care in process	

Academic Year :

2019-20

Proposal Date:

BAFT

Proposal No:

R/10/1734/1/24/350026

institute:

Anchai (Degree) College Padampur

	Scheme:	Post Matric Scholarship- SC					Proposal Type :		Renewal		
S.No. Ap	plication/ID	S.No. Application ID Student Name	Gender	Gender Category/Religion	Month	Ratio	Maintenence Allowance	Course Fee Other Fee		Total Fee	Total
Course : Pl	Course : Plus 3/Arts/3Yr	77					Name and Address of the Parket			1	0.000,000,000,000
25	1185085	1185085 LALITA DEEP	Female	SC/Hindu	10	1000	10000	1127	3010	4137	14137
26	2058011	2058011 RANJAN SETH	Male	SC/Hindu	10	300	3000	1127	3010	4137	7137
27	2939893	2939893 SEEMARANI nag	Female	SC/Hindu	10	300	3000	1127	3010	4137	7137
28	1129668	1129668 AMIT BHARASAGAR	Male	SC/Hindu	10	300	3000	1127	3010	4137	7137
29	1137950	1137950 SARASWATI TANDI	Female	SC/Hindu	10	1000	10000	1127	3010	4137	14137
30	3165843	3165843 UPENDRA KUMBHAR	Male	SC/Hindu	10	300	3000	1127	3010	4137	7137
3	1308673	1308673 SIDDHARTH MAHANANDA	Male	SC/Hindu	10	300	3000	1127	3010	4137	7137
. 32	2934483	2934483 BIKASH kalet	Male	SC/Hindu	10	300	3000	1127	3010	4137	7137
Course: Pi	Course : Plus 3/Science/2Yr	e/2Yrr									
33	1675756	1675756 LUPTI NAG	Female	SC/Hindu	10	300	3000	1559	3010	4569	7569
34	1216981	1216981 RAMAKANTA BESARA	Male	SC/Hindu	10	300	3000	1559	3010	4569	7569
35	2905358	2905358 PUJARANI seth	Female	SC/Hindu	10	300	3000	1559	3010	4569	7569
36	1519559	1519559 SUJIT KUMAR BAG	Male	SC/Hindu	10	300	3000	1559	3010	4569	7569
37	1183754	1183754 ASHISH TARIA	Male	SC/Hindu	10	1000	10000	1559	3010	4569	14569
38	2908976	2908976 SURUCHI dansana	Female	SC/Hindu	10	300	3000	1559	3010	4569	7569
39	843875	843875 SURAJ JAGDALA	Male	SC/Hindu	10	300	3000	1559	3010	4569	7569
40	1560277	1560277 ABHILASH KARNAL	Male	SC/Hindu	10	300	3000	1559	3010	4569	7569
Course: P	Course::Plus 3/Science/3Yr	e/9Yr									
41	2005499	2005499 SABITA KUMBHAR	Female	SC/Hindu	10	1000	10000	1559	3010	4569	14569
42	1814996	1814996 GURUDEV CHARAN BAG	Male	SC/Hindu	10	300	3000	1559	3010	4569	7569
43	1341967	1341967 PINKI MUNA	Female	SC/Hindu	10	300	3000	1559	3010	4569	7569
44	1316654	1316654 SADANANDA SUNA	Male	SC/Hindu	10	300	3000	1559	3010	4569	7569:
				TOTALS:			188000		129430	184202	372202

Declaration:

- Student is a bonafide student of this Institution and the academic details provided by the applicant in the application form is correct as per the records of the Institution.
- ☑ The course fees charged/claimed by the institution are actually being charged from all students of the concerned course.
- All the eligibility documents submitted by the applicant have been properly verified by me and found to be in order as per the eligibility conditions of the scheme.

This Proposal is generated by partial subplaces in the Armied on 05/12/2019

Anchal College Padampur

Proposal No: Institute: Scheme: Post Matric Scholarship- SC Anchal (Degree) College Padampur R/10/1734/1/24/350026 Proposal Type: Academic Year: Proposal Date : Renewal 2019-20

🗹 The information reflected by the student regarding Residential Status (Day-Scholar/Hosteller) is correct.

A bank-account detail provided by the applicant has been properly verified

🗹 I am aware that for any wrong entry or mis-match of the Bank-account details provided by the applicant, the State Government will not be responsible for mis-credit.

■ Student is not admitted against management quota seats.

Student is of good conduct and has attendance of minimum 75%

In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be implediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. Certified that this institution is affiliated to....University/Board and is recognized by the Government of India/State

(Signatur Managea

Head of the Institution)

6

Place:

Date :

Academic Year:

2019-20

Proposal Date :

Total .

Proposal No:

N/10/1734/1/24/351148

Institute:

Anchai (Degree) College Padampur

	Scheme: Post Matric Scholarship- SC					Proposal Type:	Fresh	sh		
SINo. Ap	S.No. Application 1D Student Name	Gender	Gender Category/Religion	Month	Rate Mai	Maintenence Course Fee Other Fee Total Fee	rse Fee	Other Fee	Totalifee	Total
Course: Pl	rsd : Plus 3/Arts/1Yr	X		-		- Control of the Cont		-		0.000
1	2055997 DEEPAK ANANTA	Male	SC/Hindu	10	300	3000	1127	3010	4137	
2	1966815 SUGYANI BARIK	Female	SC/Hindu	10	300	3000	1127	3010	4137	
w	3323604 RINKU NEGI	Male	SC/Hindu	10	1000	10000	1127	3010	4137	
4	2057832 NETRANANDA MEHER	Male	SC/Hlndu	10	300	3000	1127	3010	4137	
v	2143900 TRILOCHAN MEHER	Male	SC/Hindu	10	1000	10000	1127	3010	4137	
6	3360661 MANAS SETH	Male	SC/Hindu	10	1000	10000	1127	3010	4137	
7	3358807 TANMAYA SHIKA	Male	SC/Hindu	10	1000	10000	1127	3010	4137	
. 8	3274617 GAYATRI BADI	Female	SC/Hindu	10	300	3000	1127	3010	4137	
9	3349355 DOLIRANI BUDEK	Female	SC/Hindu	10	300	3000	1127	3010	4137	
10	3369966 DEEPIKA CHOKHI	Female	SC/Hindu	10	300	3000	1127	3010	4137	
11	3349484 DIBYA MAHANANDA	Male	SC/Hindu	10	300	3000	1127	3010	4137	
12	2029832 BABUL KUMBHAR	Male	SC/Hindu	10	300	3000	1127	3010	4137	
Coursenal	Course (Affus 3/Arts/2Yr									
13	1939470 SUNITA SETH	Female	SC/Hindu	10	1000	10000	1127	3010	4137	1
Course : Pl	Course : Plus 3/Commerce/17/r									
14	3400965 GAYATRI SATYASMITA BEHERA	Female	SC/Hindu	15	1000	10000	1152	3010	4162	
Course : Pl	irse : Plus 3/Science/1Yr									
15	2014863 ROJI BEHERA	Female	SC/Hindu	10	300	3000	1559	3010	4569	
16	1996937 ISHARANI SAGAR	Female	SC/Hindu	10	300	3000	1559	3010	4569	
17	3385518 MALESWARI SAHANI	Female	SC/Hindu	10	300	3000	1559	3010	4569	
			TOTALS:			93000		51170	71650	164650

Declaration:

- Student is a bonafide student of this institution and the academic details provided by the applicant in the application form is correct as per the records of the Institution.
- The course fees charged/claimed by the institution are actually being charged from all students of the concerned course.
- All the eligibility documents submitted by the applicant have been properly verified by me and found to be in order as per the eligibility conditions of the scheme.
- The information reflected by the student regarding Residential Status (Day-Scholar/Hosteller) is correct.
- A bank-account detail provided by the applicant has been properly verified.

9

Page 1/2

This Proposal is generated by Odisha-Scholarship Portal. Printed on 05/12/2019

Principal
Anchal College Padampur

	Fresh	Proposal Type :	e: Post Matric Scholarship- SC	Scheme:
	2019-20	Academic Year :	Anchal (Degree) College Padampur	institute :
DRAFT		Proposal Date :	N/10/1734/1/24/351148	Proposal No:

🗷 | am aware that for any wrong entry or mis-match of the Bank-account details provided by the applicant, the State Government will not be responsible for mis-credit.

■ Student is not admitted against management quota seats.

■ Student is of good conduct and has attendance of minimum 75%.

authority for eventual discontinuance of scholarship/stipend from the period it is detected. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be improved by reported to the Certified that this institution is affiliated toUniversity/Board and is recognized by the Government of India/State

Place :

Date :

(Signature & Scal of Head of the Institution)

28868	12868	9030		16000			TOTALS:			
7569	4569	3010	1559	3000	300	10	ST/Hindu	Male	3366751 KAIBALYA MAJHI	3 33667
									enoe/JYr	Course::Plus 3/Science/JYr
7162	4162	3010	1152	3000	300	10	Female ST/Hindu	Female	3279968 NILABATI NAIK	2 32799
									mmerse/1Yr	Course #Plus 3/Commerce/LVr
14137	4137	3010	1127	10000	1000	10	Female ST/Hindu	Female	2103192 PREETINANDA MIRDHA	1 21031
									SAY	Course::Plus 3/Arts/AYr
Total Scholarship	Total Fee	Otherifee	Course Fée	Maintenence Course Fee Other Fee Total Fee Allowance	Rate	Month	Gender Category/Religion	Gende	S.No. Application ID Student Name	SiNo: Application
		sh	Type: Fresh	Proposal Type :					Post Matric Scholarship-ST	Scheme :
		2019-20		Academic Year				ur	Anchal (Degree) College Padampur	Institute
entrolly served			Date: -	Proposal Date :					N/10/1734/2/25/363514	Proposal No:

Declaration:

- Student is a bonafide student of this institution and the academic details provided by the applicant in the application form is correct as per the records of the institution.
- The course fees charged/claimed by the institution are actually being charged from all students of the concerned course.
- 🗹 All the eligibility documents submitted by the applicant have been properly verified by me and found to be in order as per the eligibility conditions of the scheme.
- ☑ The information reflected by the student regarding Residential Status (Day-Scholar/Hosteller) is correct.
- A bank-account detail provided by the applicant has been properly verified.
- 🗹 I am aware that for any wrong entry or mis-match of the Bank-account details provided by the applicant, the State Government will not be responsible for mis-credit.
- Student is not admitted against management quota seats.
- Student is of good conduct and has attendance of minimum 75%.

aut	in	60	Ce
authority for eventual discontinuance of scholarship/stipend from the period it is detected.	In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship.	Government of Above applicants are studying in this institution. The information furnished by the students in their are	Certified that this institution is affiliated to
reventu	applicant	t of	at this ins
al discont	leaves in	-	titution i
tinuance	stitution	.Above a	s affiliate
of schola	or other	applicant	d to
rship/sti	wise disc	s are stu	-
pend fro	continues	dying in t	
m the pe	the stud	his institu	
riod it is	lies or ac	ution. Th	
detected	cepts any	e inform	
5000	other re	ation fur	Unive
	egular scl	nished by	rsity/Boa
	holarship	the stud	ard and it
	stipend	dents in t	s recogniz
	the fact	heir app	zed by th
32	act will be in	lications	e Govern
:	proediat.	are verif	nment of
1	ely repor	ied & fou	ed by the Government of India/State
1	ted to th	ns are verified & found correct.	ate
	æ	a	

(Signature & Season Head of the Institution)

Place : Date :



Page 1/1

	Donnard No.	Didotatoriometropolox					1	2000000		ASS. ASS.	THE PER PER PER
	Proposal No.	FG 10/11/34/2/20/30/3484					Proposal Date	Date:			
	institute	Anchal (Degree) College Padampur	5				Academic Year:		2019-20		
	Scheme:	Post Matric Scholarship-ST					Proposai Type :		Renewal		
SiNe.	Application II	S.No. Application ID Student Name	Gender	Gender Category/Religion	Month	Rate	Maintenence Course Fee Other Fee Total Fee Allowance	Course Fee	Other Fee	TOMINGO	Total Scholarship
Course	Course::Plus/3/AHS/2Yr	*									
1	1594262	1594262 Niles Negi	Male	ST/Hindu	10	300	3000:	1127	3010	4137	7137
Courses	Coursest Plus 3/Commerce/277	jerce/2Yr				i					
Ŋ	1896479	1896479 SURESH KUMAR MAJHI	Male	ST/Hindu	10	1000	10000	1152	3010	4162	14162
Conset	Course : Plus 3/Science/1Yr	3/4V/n									
w	2121271	2121271 KAILASH MAJHI	Male	ST/Hindu	10	300	3000	1559	3010	4569	7569
Gainse i	Course is Plus 3 / Science / 2Yr	ce/2Yr									
4	3103384	3103384 PRATIMA majhi	Female	Fernale ST/Hindu	10	300	3000	1559	3010	4569	7569
				TOTALS:			19000		12040	17437	36437

Declaration:

- Student is a bonafide student of this institution and the academic details provided by the applicant in the application form is correct as per the records of the institution.
- All the eligibility documents submitted by the applicant have been properly verified by me and found to be in order as per the eligibility conditions of the scheme. The course fees charged/claimed by the institution are actually being charged from all students of the concerned course.
- ☑ The information reflected by the student regarding Residential Status (Day-Scholar/Hosteller) is correct.
- A bank-account detail provided by the applicant has been properly verified.
- 🗹 i am aware that for any wrong entry or mis-match of the Bank-account details provided by the applicant, the State Government will not be responsible for mis-credit.
- Student is not admitted against management quota seats.
- Student is of good conduct and has attendance of minimum 75%.

/stipend the fact will be implediate	Certified that this institution is affiliated to
--------------------------------------	--

Place:

Date :



lead of the Institution)

Renewal	Proposal Type :	Post Matric Scholarship-ST	Scheme :	
2019-20	Academic Year:	Anchal (Degree) College Padampur	institute :	
•	Proposal Date :	R/10/1/34/2/25/350015	Proposal No :	_

	ocheme. Post Matric ocholarship-or					Proposal Type:		Renewal		
S.No. Ap	S.No. Application ID Student Name	Gander	Gender Category/Religion	Month	Rate	Maintenence Allowance	enence Course Fee Other Fee	Other Fee	Totalifee	Total
Course : Ph	Course : Plus 3/Arts/1Yr									The state of the s
1	2038505 ABHASA BARIHA	Male	ST/Hindu	10	300	3000	1127	3010	4137	7137
2	1706614 NARESH KUMAR BHOI	Male	ST/Hindu	10	300	3000	1127	3010	4137	7137
ω	1948096 DEEPAK NEGI	Male	ST/Hindu	10	300	3000	1127	3010	4137	7137
4	1863689 SALIL KUMAR SINGH BARIHA	Male	ST/Hindu	10	300	3000	1127	3010	4137	7137
S.	2085049 BRUNDABANA MIRDHA	Mafe	ST/Hindu	10	300	3000	1127	3010	4137	7137
6	1871314 NITU BHOI	Female	ST/Hindu	10	300	3000	1127	3010	4137	7137
7	2167856 SARASWATI DHUBAL	Female	ST/Hindu	10	300	3000	1127	3010	4137	7137
60	2094216 GEETANJALI BHOI	Female	ST/Hindu	10	300	3000	1127	3010	4137	7137
9	2060794 ASHOK NAIK	Male	ST/Hindu	10	300	3000	1127	3010	4137	7137
10	1997730 LEEZA BARIHA	Female	ST/Hindu	10	300	3000	1127	3010	4137	7137
Course: Pl	rse:: Plus 3/Arts/2Yr									
11	1879585 TULABATI KAMALIA	Female	ST/Hindu	10	300	3000	. 1127	3010	4137	7137
12	1617042 MADHURI BARIHA	Female	ST/Hindu	10	300	3000	1127	3010	4137	7137
ts	1964341 ISHWAR NAIK	Male	ST/Hindu	10	300	3000	1127	3010	4137	7137
14	1622708 JYOTIRMAYEE DHARUA	Female	ST/Hindu	10	300	3000	1127	3010	4137	7137
15	1849845 SUMITRA SINGH BARIHA	Female	ST/Hindu	10:	300	3000	1127	3010	4137	7137
16	1591203 SAGARIKA BHOI	Female	ST/Hindu	10	300	3000	1127	3010	4137	7137
17	1503533 KARTIKA BARIHA	Male	ST/Hindu	10	300	3000	1127	3010	4137	7137
18	1870941 PRATIBHA BHUE	Female	ST/Hindu	10	300	3000	1127	3010	4137	7137
19	507955 ARTTA DHARUA	Male	ST/Hindu	10	300	3000	1127	3010	4137	7137
20	1549254 RAJU ROUT	Male	ST/Hindu	10	300	3000	1127	3010	4137	7137
21	3404650 RAJNIKANT SIDAR	Male	ST/Hindu	10	300	3000	1127	3010	4137	7137
22	2401705 BHUPAL budek	Male	ST/Hindu	10	300	3000	1127	3010	4137	7137
23	1622581 SARITA BHOI	Female	ST/Hindu	10	300	3000	1127	3010	4137	7137

Anchal College Padampur

K

Proposal Date : Academic Year :

2019-20

BBAFT

Proposal No : institute :

R/10/1734/2/25/350015

Anchal (Degree) College Padampur

						Proposal Type :		Renewal		
SiNo. Ap	SiNo. Application ID Student Name	Gender	Category/Religion	Month	Rate	Maintenence C	ourse Fee	Course Fee Other Fee Total Fee	Totalifee	Total Scholarship
Course : Pi	Course: Plus 3 /Arts/3Yr									
24	1305620 ABHIRAM NAG	Male	ST/Hindu	10	300	3000	1127	3010	4137	7137
25	1186910 PREMALATA DHARUA	Female	ST/Hindu	10	300	3000	1127	3010	4137	7137
26	1109887 LEELAKANTA BARIHA	Male	ST/Hindu	10	300	3000	1127	3010	4137	7137
27	1210109 BHARAT CHANDRA BARIHA	Male	ST/Hindu	10	300	3000	1127	210	1337	4337
28	1411414 KISHOR CHANDRA BHOI	Male	ST/Hindu	10	300	3000	1127	3010	4137	7137
29	1235750 RENUPRIYA BHOI	Female	ST/Hindu	10	300	3000	1127	3010	4137	7137
Course : Pl	urse : Plus 3 / Commerce / 1Yr									
30	3042425 MUKESH majhi	Male	ST/Hindu	10	300	3000	1152	3010	4162	7162
Courseal	Course : Plus 3 / Commerce / 2Yr									
31	3129337 JHARANA meher	Female	ST/Hindu	10	300	3000	1152	3010	4162	7162
32	1627997 BIRENDRA MAJHI	Male	ST/Hindu	10	300	3000	1152	3010	4162	7162
Course: P	Course: Plus 3 / Commerce / 3Yr									
33	909079 KHIROD KUMAR MAJHI	Male	ST/Hindu	10	1000	10000	1152	3010	4162	14162
Course : P	Course: Plus 3/Science/27/r									
34	2764737 SEETA bariha	Female	ST/Hindu	10	300	3000	1559	3010	4569	7569
35	1735156 BINAPANI BARIHA	Female	ST/Hindu	10	300	3000	1559	3010	4569	7569
36	1829868 TAPASWINI MIRDHA	Female	ST/Hindu	10	300	3000	1559	3010	4569	7569
37	1688520: Anisha Bhoi	Female	ST/Hindu	10	300	3000	1559	3010	4569	7569
38	1687068 HIMANJALI SABAR	Female	ST/Hindu	10	300	3000	1559	3010	4569	7569
39	3103767 BIJAYA LAXMI majhi	Female	ST/Hindu	10	300	3000	1559	3010	4569	7569
46	2819816 PRIYADARSHINI bariha	Female	ST/Hindu	10	300	3000	1559	3010	4569	7569



Anchal College Padampur

L	
1	7
3	2
20000	õ
:	7
:	Ę
1	Ď
1	100
6	2
5	Į
1	
21	200
2	U

Proposat Date : Academic Year :

2019-20

Institute :

R/10/1734/2/25/350015

Anchal (Degree) College Padampur

	Scheme: Post Matric Scholarship-ST					Proposal Type	2000	Renewal		
SiNo. Apr	Application ID Student Name	Gender	Gender Category/Religion	Month	Rate Main		tenence Course Fee Other Fee	Other/Fae	Total Fee	Total: Scholarship
Courses: Plu	eourser: Plus 3/Science/3Yr									
41	560251 BIBHISAN MAJHI	Male	ST/Hindu	10	300	3000	1559	3010	4569	7569
42	1325516 SASNITA DAU	Female	ST/Hindu	10	300	3000	1559	3010	4569	7569
43	868201 AHALYA BARIHA	Female	ST/Hindu	10	300	3000	1559	3010	4569	7569
4	907928 ANIL KAMATI	Male	ST/Hindu	10	300	3000	1559	3010	4569	7569
45	1166388 PRANAYA SIRDAR	Male	ST/Hindu	10	300	3000	1559	3010	4569	7569
46	1306937 KUNJALATA BHUE	Female	ST/Hindu	10	300	3000	1559	3010	4569	7569
47	2065336 DAYARAM BARIHA	Male	ST/Hindu	15	300	3000	1559	3010	4569	7569
48	2124421 BDULI BARIHA	Female	ST/Hindu	10	300	3000	1559	3010	4569	7569
49	863721 ASHIS MIRDHA	Male	ST/Hindu	10	1000	10000	1559	3010	4569	14569
			TOTALS:			161000		144690	206925	367925

Declaration:

- Student is a bonafide student of this Institution and the academic details provided by the applicant in the application form is correct as per the records of the Institution.
- The course fees charged/claimed by the institution are actually being charged from all students of the concerned course.
- 🗹 All the eligibility documents submitted by the applicant have been properly verified by me and found to be in order as per the eligibility conditions of the scheme.
- ☑ The information reflected by the student regarding Residential Status (Day-Scholar/Hosteller) is correct.
- A bank-account detail provided by the applicant has been properly verified.
- 🗹 I am aware that for any wrong entry or mis-match of the Bank-account details provided by the applicant, the State Government will not be responsible for mis-credit.
- Student is not admitted against management quota seats.
- Student is of good conduct and has attendance of minimum 75%

authority for eventual discontinuance of scholarship/stipend from the period it is detected. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the Certified that this institution is affiliated to...University/Board and is recognized by the Government of India/State

Place : Date :

(Signa) His College Peagle hips Institution)
Name (Capital Leters):

Proposal Date :
Academic Year :

2019-20

B

Proposal No :

N/10/1734/2/25/351122

Anchai (Degree) College Padampur

Sc	Scheme: Post Matric Scholarship-ST					Proposal Type:		Fresh		
S.No. Applic	S.No. Application 1D Student Name	Gender	Gender Category/Religion	Month	Rate	Rate Maintenence Allowance	Courselfee	Course Fee Other Fee Total Fee	Total Fee	Total Scholarship
Course: Plus 3/Arts/1Yr	E/ARE/AYA									
	2072906 PRASANTA BARIHA	Male	ST/Hindu	10	300	3000	1127	3010	4137	7137
2	2065138 JASHOBANTA NAIK	Male	ST/Hindu	10	300	3000	1127	3010	4137	7137
ω	3204886 TAKESWAR NAIK	Male	ST/Hindu	10	300	3000	1127	3010	4137	7137
4	2021595 RABINDRA NAIK	Male	ST/Hindu	10	300	3000	1127	3010	4137	7137
(A	3344158 RAJU SHABAR	Male	ST/Hindu	10	300	3000	1127	3010	4137	7137
6	3382856 SABYA BARIHA	Female	ST/Hindu	10	300	3000	1127	3010	4137	7137
7	3276416 ANJANA NAIK	Female	ST/Hindu	10	300	3000	1127	3010	4137	7137
00	3392197 ARATI BHUE	Female	ST/Hindu	10	300	3000	1127	3010	4137	7137
Course : Plus 3	Course : Plus 3/Commerce/LYr									
9	2145658 SASMITA BHOI	Female	ST/Hindu	10	300	3000	1152	3010	4162	7162
Course Plus 3	Course : Plus 3/Science/1Yr									
10	1912463 KAMAL SINGH NAIK	Male	ST/Hindu	10	1000	10000	1559	3010	4569	14569
11	3385683 PRATIMA MAJHI	Female	ST/Hindu	10	300	3000	1559	3010	4569	7569
12	3375899 BASANTI SABAR	Female	ST/Hindu	10	300	3000	1559	3010	4569	7569
13	3394014 MANJIT LUHAR	Male	ST/Hindu	10	300	3000	1559	3010	4569	7569
14	3346889 SUJATA BARIHA	Female	ST/Hindu	10	300	3000	1559	3010	4569	7569
15	3300650 MONALISA MAJHI	Female	ST/Hindu	10	1000	10000	1559	3010	4569	14569
16	3324179 CHHABIRA NAIK	Male	ST/Hindu	10	1000	10000	1559	3010	4569	14569
17	3332260 MURALIDHAR MAJHI	Male	ST/Hindu	10	300	3000	1559	3010	4569	7569
			TOTALS:			72000		51170	73810	145810

Declaration:

- Student is a bonafide student of this institution and the academic details provided by the applicant in the application form is correct as per the records of the institution.
- ☑ The course fees charged/claimed by the institution are actually being charged from all students of the concerned course.
- All the eligibility documents submitted by the applicant have been properly verified by me and found to be in order as per the eligibility conditions of the scheme.
- ☑ The information reflected by the student regarding Residential Status (Day-Scholar/Hosteller) is correct.
- A bank-account detail provided by the applicant has been properly verified.
- 🗹 I am aware that for any wrong entry or mis-match of the Bank-account details provided by the applicant, the State Government will not be responsible for mis-credit.

T.

This Proposal is generated by Odisparation Portal. Printed on 05/12/2019

Anchal College Padampur

Principal

Page 1/2

Proposal No : Institute: Anchal (Degree) College Padampur N/10/1734/2/25/351122

Academic Year:

Proposal Date :

Proposal Type:

Fresh

2019-20

Student is not admitted against management quota seats.

Scheme:

Post Matric Scholarship-ST

Student is of good conduct and has attendance of minimum 75%.

In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. Certified that this institution is affiliated toUniversity/Board and is recognized by the Government of India/State

Place:

Date :

Marie telephantear Sadampur Sear Wife ad of the Institution)